Java ?7? 7 07?0777 77

1. ?? ??. Arrays.equals()

Arrays.equals(arrayl, array2?);
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int[] a = {1, 2, 3};

int[] b = {1, 2, 3};

System.out.println(Arrays.equals(a, b)); // [ true
System.out.println(a == b); // 0 false (OO 0OO)

2. 7?7?77 Arrays.copyOf ()

Arrays.copy0f (0000, 00O0O0OO);
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int[] original = {1, 2, 3, 4};
int[] copied = Arrays.copyOf(original, 2); // [1, 2]
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int[] extended = Arrays.copyOf(original, 6); // [1, 2, 3, 4, 0, 0]

3. 7?7 ??. Arrays.copyOfRange()

Arrays.copyOfRange (0, 00000, 0000);
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int[] sub = Arrays.copyOfRange(original, 1, 3); // [2, 3]

4, ?7? ??. Arrays.sort()
Arrays.sort(00);
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int[] arr = {5, 1, 3};
Arrays.sort(arr); // arr - [1, 3, 5]

5. 77 ??. Arrays.toString()
Arrays.toString(00);
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System.out.println(Arrays.toString(arr)); // [1, 3, 5]

6. ??7 ??7?. Arrays.fill()
Arrays.fill(Qg, 0);
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int[] arr = new int[5];

Arrays.fill(arr, 7); // arr - [7, 7, 7, 7, 7]

(. 7?27?27 7?7 Arrays.binarySearch()

Arrays.binarySearch (00000, 0O00);
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int[] sorted = {1, 2, 3, 4};

int idx = Arrays.binarySearch(sorted, 3); // 2
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M M Arrays.toString()
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0 I 0O OO O m toCharArray() = Arrays.sort() — Arrays.equals()
MO M OIId m Arrays.copyOf() + Arrays.sort()
M 014 Arrays.copyOfRange ()

Revision #2
Created 23 May 2025 04:48:04 by Dain
Updated 23 May 2025 04:54:29 by Dain



